Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CE319 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- SG Credit Credit	GPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	NTAL MANAGEME NT (EIS-I)							
Semester : U14CH009	7 BHARATH KUMAR K	59 5.03	FF	DD	DD	CD	СС	DD	CD	DD							BACKLOG: 9 CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH309 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- SG Credit Credit	GPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	BIOPROCES S ENGINEERI NG (EIS-I)							
Semester : U15CH001	5 MAKWANA DHAVAL MAGANB		ВВ	ВВ	ВС	ВС	AA	ВС	CC	ВВ							
Semester : U15CH002	5 KALBHOR AMEY SHAILESH 2 22.00 22.00 9.	77 8.64	AA	AB	AA	AA	AB	AA	AA	AA							
Semester : U15CH003	5 KAPADIYA PRASIL JAYESHKU	MAR	AA	AA	AA	AA	AA	AA	AA	AA							
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- SG Credit Credit	SPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	FUELS AND COMBUSTIO N(EIS-I)							
Semester : U15CH004	5 MISTRY APURVA JITENDRABI 22.00 22.00 9.		AB	AB	AB	AA	AB	AA	AB	AB							
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	AM309 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00						<u> </u>	
Admission Number	Reg- Earn- SG Credit Credit	SPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	L OPERATION	MECHANICA L OPERATION S (PRAC.)	INTRODUCT ION TO EARTHQUAK E ENGINEERI NG (EIS-I)							
Semester : U15CH008	5 DALAL RAHUL HEMANT 5 22.00 22.00 8.	50 8.30	BB	BB	BB	AA	ВВ	BB	BB	AB							
	5 ALISA CHAKRABORTY		AB	AB	AB	AA	AA	AB	AB	AA							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2017

					1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name		Сс	ourse Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
				Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	_	arn- redit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	FUELS AND COMBUSTIO N(EIS-I)							
Semester : U15CH007			8.09	7.70	BB	ВС	СС	АВ	AB	BB	ВВ	AB							
Semester	Student Name		Co	ourse Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH309 T							_
				Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number		arn- redit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	BIOPROCES S ENGINEERI NG (EIS-I)							
Semester : U15CH008	5 PRAJAPATI NIRAV				AA	AA	AB	AA	AB	AB	AB	AA							
	5 AMRITA MOHANT	ΓY		6.48	ВС	CD	CC	ВС	АВ	ВС	ВВ	ВВ							
Semester	Student Name			ourse Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CE319 T							
				Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	_	arn- redit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	<u> </u>							
Semester : U15CH011	5 AISWARYA UDAYA		_	6.89	СС	ВС	ВС	ВС	ВВ	CC	ВС	BB							
	5 ASHWIN AJAYA K	UMAR		6.06	CD	CD	ВС	СС	ВС	CD	CD	ВС							
Semester : U15CH013	5 AASHISH ARVIND 3 22.00 2		7.36	6.95	ВС	ВС	ВС	ВВ	ВВ	ВС	ВС	ВВ							
Semester	Student Name			ourse Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
Admission Number	Reg- Ea Credit Cr	arn- redit	SGPA	<i>Credit</i> CGPA	4.00 CHEMICAL ENGINEERI NG THERMODYN	4.00 HEAT TRANSFER OPERATION S	1.00 HEAT TRANSFER OPERATION S (PRAC.)	4.00 MASS TRANSFER OPERATION S - I	1.00 MASS TRANSFER OPERATION S - I (PRAC.)		1.00 MECHANICA L OPERATION S (PRAC.)	3.00 FUELS AND COMBUSTIO N(EIS-I)							
Semester : U15CH014	5 SHIKHAR PRIYAD 4 22.00 1		3.82	5.41	AMICS - I	FF	CD	DD	ВВ	DD	CD	CC							BACKLOG: 16 CREDIT(S)

Ichchhanath, Surat-395007 (Gujarat), India

			11			1	1 _	1	1					I	1		
			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CE319 T							_
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	NTAL MANAGEME NT (EIS-I)							
Semester :	5 SIMRAN RIYAZ SHIKALG	AR		_				_	_								
U15CH015	1 22 00 1 22 00 1	6 5 5 6 26	CC	CD	CC	CC	BB	BC	BC	AB							
	22.00 22.00 5 KHEVNA C PAREKH	6.55 6.26															BACKLOG:
Serriester .	5 KITEVIVA CITAKEKII		NA	ВС	CD	ВС	BB	CC	ВС	AB							4
U15CH016		-															CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	MH305 T							_
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	MARKETING MANAGEME NT (EIS-I)							
Semester :	5 AKSHITA PRASHANT RAN	MTEKE								5.0							
U15CH018	22.00 22.00	7.91 8.21	BB	BB	CC	AB	BB	BB	BC	BC							
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CE319 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	ENVIRONME NTAL MANAGEME NT (EIS-I)							
Semester :	5 GAYATRI WASUDEO BAD		ВС	BB	CC	AB	AB	ВС	cc	ВВ							
	5 PRIYANKA BARUA	7100 7104															+
U15CH020		5.45 6.50	CD	CD	CC	CC	BB	CC	CC	DD							
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CE309 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	INDUSTRIAL SAFETY & ENVIRONME NT (EIS-I)							
Semester :	5 CHAUHAN KETAN MOHAI	NKUMAR		4.5			4.5		4.5								
U15CH021	22.00 22.00	9.27 8.76	BB	AB	BB	AA	AB	AA	AB	AA							
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH309 T							
	-	Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							1
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER	MECHANICA L	MECHANICA L	BIOPROCES S ENGINEERI NG (EIS-I)							
Semester :	5 BAROT SHIVAM HEMANT	ВНАІ	BC	BB	BC	AA	AB	BB	BB	ВВ							
U15CH022	22.00 22.00				i .	i .											

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2017

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	(Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	FUELS AND COMBUSTIO N(EIS-I)							
Semester : U15CH02		0 8.64	9.31	ВВ	ВВ	ВВ	AA	ВВ	ВВ	ВВ	AA							
Semester	Student Name	. (Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CE309 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	INDUSTRIAL SAFETY & ENVIRONME NT (EIS-I)							
Semester:	5 NIRALIBEN PATEL			AB	AA	AA	AA	AA	AA	AA	AA							
U15CH024	4 22.00 22.0	0 9.82	9.62	AD					AA	AA								
Semester	Student Name		Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	FUELS AND COMBUSTIO N(EIS-I)							
Semester :	5 KAKADIYA DENISH DI	EVCHANDBI	HAI	BB	ВС	BB	AB	AB	BB	AB	AB							
U15CH02	5 22.00 22.0	0 8.23	8.44		50		, 13	713		710								
Semester	Student Name	(Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH309 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	BIOPROCES S ENGINEERI NG (EIS-I)							
Semester :	5 JHUNJHUNWALA SHU	BHAM KUM	AR	ВС	DD	DD	AB	^^	00	00	AB							
U15CH02	6 22.00 22.0	0 7.77	7.62	BC	BB	BB	AD	AA	CC	CC	AD							
Semester	Student Name		Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit		CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	FUELS AND COMBUSTIO N(EIS-I)							
U15CH02	5 SONDARVA KALPESH 7 22.00 22.00			ВВ	ВВ	ВВ	AB	AB	ВВ	AB	AB							

Abbrivations: SGPA = Semester Grade Point Average, CGPA = Cumulative Grade Point Average Grade: AA-10 AB-9 BB-8 BC-7 CC-6 CD-5 DD-4 FF-0 II - INCOMPLETE NA - NOT APPEARED XX - UNSATISFATORY ATTENDANCE The actual mark statement with the Academic / Examination section shall be final & binding to all Page 4 of 12

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2017

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CE319 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	CHEMICAL ENGINEERI	HEAT TRANSFER	HEAT TRANSFER	MASS TRANSFER	MASS TRANSFER	MECHANICA L	MECHANICA L	ENVIRONME NTAL							
			NG THERMODYN	OPERATION S	OPERATION S (PRAC.)	OPERATION S - I	OPERATION S - I (PRAC.)	OPERATION S	OPERATION S (PRAC.)	MANAGEME NT (EIS-I)							
Semester :	5 RASHMI MEENA		AMICS - I														
U15CH028	22.00 22.00	6.95 6.79	BC	CC	BC	BC	BB	BC	CC	BB							
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							_
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	FUELS AND COMBUSTIO N(EIS-I)							
Semester :	5 TEJ PRAKASH MALI		СС	CC	BB	ВС	ВС	CC	СС	ВВ							
U15CH029																	
Semester : U15CH030	5 DODIA SIDDHARTHKUM/		СС	CC	ВС	СС	ВС	СС	BB	ВВ							
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	ME313 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	PLASTICS & CERAMICS (EIS-I)							
Semester :	5 PATEL JIGAR MAHESH		ВС	BB	ВС	BB	BB	ВС	AB	BB							
U15CH031	22.00 22.00	7.64 7.74		ББ	ВС		DD	ВС	AD								
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	L OPERATION	MECHANICA L OPERATION S (PRAC.)	FUELS AND COMBUSTIO N(EIS-I)							
	5 CHANDRA HARDIK ARVI		BB	AB	AA	AA	AA	AB	AB	AA							
U15CH032			CH301 T	CH303 T	CH303 b	CH305 T	CH305 P	CH307 T	CH307 P	ME313 T							-
Semester	Student Name	Course Code			CH303 P												1
Admission Number	Reg- Earn- Credit Credit	Credit SGPA CGPA	4.00 CHEMICAL ENGINEERI NG THERMODYN	4.00 HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	4.00 MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	4.00 MECHANICA L OPERATION S	L OPERATION	3.00 PLASTICS & CERAMICS (EIS-I)							
			AMICS - I		J (I NAC.)	3 - 1	J I (FRAC.)	3	S (PRAC.)								
	5 PRAJAPATI DHRUMIL JIT		ВВ	BB	BB	AB	AB	AB	BB	AB							
U15CH033	22.00 22.00	8.55 8.64							1								<u> </u>

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2017

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- S Credit Credit	GPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	+	FUELS AND COMBUSTIO N(EIS-I)							
Semester :	5 DENISH VIRANI									<u> </u>							
U15CH034	22.00 22.00 8	8.41 8.42	BC	BB	BB	AB	AB	AB	AB	AB							
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH309 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- S Credit Credit	GPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S		BIOPROCES S ENGINEERI NG (EIS-I)							
Semester : U15CH038	5 SUTHAR CHANDAN NENARA	_	BB	AB	AA	AA	AA	AA	AB	AA							
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- S Credit Credit	GPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S		FUELS AND COMBUSTIO N(EIS-I)							
Semester : U15CH036	5 HIMANSHU GUPTA	0.14 8.79	AB	AA	AA	АВ	AA	ВВ	AA	AB							
Semester : U15CH037	5 KARANRAJSINHJI S RAJPUT	_	AB	AB	ВС	AA	ВВ	ВВ	BB	AA							
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	ME313 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- S Credit Credit	GPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	OPERATION	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	L OPERATION	MECHANICA L OPERATION S (PRAC.)	PLASTICS & CERAMICS (EIS-I)							
Semester :	5 PATEL DEEPKUMAR PARESH	BHAI								1 1							
U15CH039	22.00 22.00 7	7.73 7.00	ВС	BC	BB	BB	BB	BB	BC	AB							
Semester :	5 KANDARPSEN JADAV	•	CD	CD	BC	CD	СС	CD	СС	СС							
U15CH041	22.00 22.00 5	6.33															

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2017

					1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student I	Name	С	ourse Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
				Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Cred		SGPA		CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	FUELS AND COMBUSTIO N(EIS-I)							
Semester : U15CH042		A ABHISHEK [BB	AB	BB	AA	AB	ВВ	AB	AB							
Semester : U15CH043	5 JHANVI VI			9.65	AA	AA	AB	AA	AA	AA	AA	AA							
Semester : U15CH044	_	YASH VIJAYB	_	8.66	ВС	AB	BB	ВС	BB	BB	AB	AB							
Semester : U15CH045	5 PATEL DIS		ALKESHBH	HAI 8.98	AB	AB	AB	AA	AB	AB	AA	AB							
Semester : U15CH046		YASHKUMAR	_	HAI 8.02	BB	BB	AB	BB	AA	ВС	AB	BB							
Semester	Student I			ourse Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	AM309 T							
				Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Cred		SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	INTRODUCT ION TO EARTHQUAK E ENGINEERI NG (EIS-I)							
Semester : U15CH048		TIWARI 00 22.00	8.55	8.45	BB	AB	BB	AB	AB	BB	BB	AB							
Semester	Student I			ourse Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CE309 T							
				Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Cred	Earn- it Credit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	OPERATION	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION	MECHANICA L OPERATION S (PRAC.)	INDUSTRIAL SAFETY & ENVIRONME NT (EIS-I)							
Semester : U15CH049		MAHENDRA 00 22.00	6.82	7.14	ВС	CC	CC	СС	ВС	ВВ	ВВ	ВС							
Semester	Student I			ourse Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CE319 T							
				Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Cred	Earn- lit Credit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	ENVIRONME NTAL MANAGEME NT (EIS-I)							
Semester :	5 SEEMAKUF	RTHI HIMA VAR	RSHA		ВС	ВС	BB	AB	BB	BB	BB	BB							
U15CH050	22.	00 22.00	7.82	7.64				, , ,											

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2017

		1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
	Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Reg- Earn- Number Credit Credi		CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	FUELS AND COMBUSTIO N(EIS-I)							
Semester : 5 VISHAL CHAUHAN U15CH051 22.00 22.0	0 7.41 7.35	ВВ	ВС	ВВ	ВВ	ВВ	CC	ВС	ВВ							
Semester : 5 TALAVIYA OMKUMAR U15CH054 22.00 22.0		AB	AB	AB	AA	AA	AB	AA	AA							
Semester : 5 BHUVNESH CHOUDH U15CH057 22.00 22.0	ARY	ВВ	BB	BB	AB	AB	ВВ	ВС	AB							
Semester Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	AM309 T							
	Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Reg- Earn- Number Credit Credi	SGPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	INTRODUCT ION TO EARTHQUAK E ENGINEERI NG (EIS-I)							
Semester : 5 TANUSHREE SARDA U15CH059 22.00 22.0	0 9.36 9.15	AB	AA	AA	AA	BB	BB	AA	AA							
Semester Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
	Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Reg- Earn- Number Credit Credi	SGPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	FUELS AND COMBUSTIO N(EIS-I)							
Semester: 5 ENJAPELLY SHIVAJI U15CH063 22.00 22.0	0 4.86 5.10	DD	DD	CD	CD	АВ	DD	ВС	cc							
Semester : 5 GOHIL BHAUTIKKUM. U15CH064 22.00 22.0		AB	AB	AB	AB	AB	AB	AB	AA							
Semester : 5 SIDATAR INAYAT SAL U15CH065 22.00 22.0		BB	ВС	AB	ВВ	BB	ВС	BB	AB							
Semester : 5 PARAS DHAMU U15CH066 22.00 22.0		BB	ВС	ВС	AB	AB	ВС	BB	AB							
Semester : 5 UDAY SUJITH PUVVA U15CH068 22.00 22.0	DA	BB	AB	AB	AB	BB	BB	AB	AB							
Semester : 5 CHITIMIREDDY HANG U15CH069 22.00 22.00	IMANTHU RAO	CD	DD	CC	CD	BB	CD	ВС	СС							

Abbrivations : SGPA = Semester Grade Point Average, CGPA = Cumulative Grade Point Average Grade : AA-10 AB-9 BB-8 BC-7 CC-6 CD-5 DD-4 FF-0 II - INCOMPLETE NA - NOT APPEARED XX - UNSATISFATORY ATTENDANCE

The actual mark statement with the Academic / Examination section shall be final & binding to all

Page 8 of 12

Ichchhanath, Surat-395007 (Gujarat), India

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	C	ourse Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	AM309 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	INTRODUCT ION TO EARTHQUAK E ENGINEERI							
Semester :	5 ISHITA MAHESHWARI							_			NG (EIS-I)							
U15CH070	22.00 22.00	9.32	8.76	AB	AA	AB	AA	BC	AB	AA	AB							
Semester	Student Name	C	ourse Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CE319 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	ENVIRONME NTAL MANAGEME NT (EIS-I)							
Semester : U15CH071	5 MANIKPURE NANDINI S	_		ВВ	ВС	AA	BB	ВВ	ВВ	AB	AA							
Semester	Student Name		ourse Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	FUELS AND COMBUSTIO N(EIS-I)							
Semester :	5 PHADKE ASHISH RAVIN	IDRA		СС	СС	СС	BB	BB	СС	BB	AB							
U15CH072		6.95	7.38															
Semester :	5 RITIK GUPTA			CD	СС	BB	ВС	BB	ВС	BB	BB							
U15CH073			6.87															
Semester	Student Name	C	ourse Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH309 T							
	D		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	L OPERATION S	MECHANICA L OPERATION S (PRAC.)	S ENGINEERI NG (EIS-I)							
Semester :	5 DORIWALA MUSTAFA Z	AINUDDIN		AB	AA	AA	AA	AB	AA	AA	AB							
U15CH074	22.00 22.00	9.64	9.02	70	77		7/1	70		77	,,,,							
Semester : U15CH075	5 KHIRABDHI TANNAYA M		8.26	ВС	BB	AB	AB	AA	ВВ	BB	AB							
Semester	Student Name		ourse Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CE319 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA		CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)		MECHANICA L OPERATION S (PRAC.)	ENVIRONME NTAL MANAGEME NT (EIS-I)							
Semester : U15CH076	5 KALPANA PRASAD 22.00 22.00	5.95	6.04	CD	DD	CD	CC	CC	ВС	ВВ	ВВ							

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	FUELS AND COMBUSTIO N(EIS-I)							
Semester : U15CH077	5 RANA PANKAJ DEEPAKKU 7 22.00 22.00		BB	СС	ВС	BB	ВС	BB	ВС	BB							
	5 RATHOD MANAN VINOD		AB	AB	AB	AB	AB	AB	AB	AB							
U15CH079																	
Semester	Student Name	Course Code		CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CE309 T							
Admission	Reg- Earn-	Credit	4.00 CHEMICAL	4.00 HEAT	1.00 HEAT	4.00 MASS	1.00 MASS	4.00 MECHANICA	1.00 MECHANICA	3.00 INDUSTRIAL							
Number	Credit Credit	SGPA CGPA	ENGINEERI NG THERMODYN AMICS - I	TRANSFER OPERATION	TRANSFER OPERATION S (PRAC.)	TRANSFER OPERATION S - I	TRANSFER OPERATION S - I (PRAC.)	L OPERATION S	L OPERATION S (PRAC.)	SAFETY & ENVIRONME NT (EIS-I)							
Semester :	5 JINESH JOSHI		BB	ВС	ВС	BB	ВС	BB	BB	AB							
U15CH081	22.00 22.00	7.86 7.51		ВО	ВО		БО			7.5							
Semester	Student Name	Course Code		CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
Adminsion	Dan Farm	Credit		4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	FUELS AND COMBUSTIO N(EIS-I)							
Semester : U15CH082	5 SWARANG V CHANDWAS		AB	AA	AB	AA	ВВ	ВС	AB	АВ							
Semester : U15CH083	5 TAILOR DHRUV PARESHK		BB	AB	AA	AB	AB	ВВ	AB	AB							
Semester	Student Name	Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	MH305 T							
		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	MARKETING MANAGEME NT (EIS-I)							
Semester :	5 SHARMA RAVIKANT PRAF	HLADRAI	ВС	ВС	BB	СС	СС	СС	СС	CD							
U15CH084	22.00 22.00	6.32 6.95	ВС	БС	00												
Semester	Student Name	Course Code		CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
Admission Number	Reg- Earn- Credit Credit	Credit SGPA CGPA	4.00 CHEMICAL ENGINEERI NG	4.00 HEAT TRANSFER OPERATION	1.00 HEAT TRANSFER OPERATION	4.00 MASS TRANSFER OPERATION	1.00 MASS TRANSFER OPERATION	4.00 MECHANICA L OPERATION	1.00 MECHANICA L OPERATION	3.00 FUELS AND COMBUSTIO N(EIS-I)							
			THERMODYN AMICS - I	S	S (PRAC.)	S - I	S - I (PRAC.)	S	S (PRAC.)								
Semester:	5 RAHUL KUMAWAT		ВС	ВС	ВС	ВС	ВС	СС	AB	ВС							
U15CH086	22.00 22.00	6.91 7.17															

Ichchhanath, Surat-395007 (Gujarat), India

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	(Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CE309 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	INDUSTRIAL SAFETY & ENVIRONME NT (EIS-I)							
Semester :	5 SHUBHAM TIWARI				DD	AD	ΛD	DC.	DD	00	BB							
U15CH087	7 22.00 22.00	7.91	7.65	ВС	BB	AB	AB	BC	BB	CC	ВВ							
Semester	Student Name	(Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	FUELS AND COMBUSTIO N(EIS-I)							
Semester : U15CH088	5 VIRENDRA KUMAR 22.00 22.00	1 0 00	1 642	ВВ	ВВ	AB	ВВ	ВВ	ВС	ВВ	AB							
	5 AGRAWAL DEEP MUKESI	HKUMAR	6.43	AB	AA	AA	AA	AA	AB	AB	AA							
Semester :	5 HANS RAM SAINI		1	ВС	ВС	СС	СС	ВС	CD	СС	ВС							
U15CH09 ² Semester	22.00 22.00 Student Name		6.88 Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CE309 T							
		`	Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	INDUSTRIAL SAFETY & ENVIRONME NT (EIS-I)							
Semester : U15CH092	5 MOHAMMAD RAGIB 2 22.00 22.00	5.91	6.27	СС	CD	CC	СС	CC	СС	CD	ВС							
Semester	Student Name		Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	AM309 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION S	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	INTRODUCT ION TO EARTHQUAK E ENGINEERI NG (EIS-I)							
	5 RISHABH SINGH			СС	CC	ВС	ВС	CD	CC	CC	AB							
U15CH094 Semester	22.00 22.00 Student Name	1	8.00 Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
Jennester	Stagent Name		Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA		CHEMICAL ENGINEERI NG THERMODYN AMICS - I	HEAT TRANSFER OPERATION	HEAT TRANSFER OPERATION S (PRAC.)	MASS TRANSFER OPERATION S - I	MASS TRANSFER OPERATION S - I (PRAC.)	MECHANICA L OPERATION S	MECHANICA L OPERATION S (PRAC.)	FUELS AND COMBUSTIO N(EIS-I)							
Semester : U15CH098	5 ANURAG PATRA 22.00 22.00	7.50	7.63	ВС	ВС	BB	AB	BB	CC	СС	AB							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2017

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	(Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CE309 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission	Reg- Earn-	SGPA	CGPA	CHEMICAL	HEAT	HEAT	MASS	MASS	MECHANICA	MECHANICA	INDUSTRIAL							
Number	Credit Credit	301 A	COLA	ENGINEERI	TRANSFER	TRANSFER	TRANSFER	TRANSFER	L	L	SAFETY &							1
				NG	OPERATION	OPERATION	OPERATION		OPERATION	OPERATION	ENVIRONME							
				THERMODYN AMICS - I	S	S (PRAC.)	S - I	S - I (PRAC.)	S	S (PRAC.)	NT (EIS-I)							
Semester :	5 BERA VARUN SAI			CD	DD	BB	CD	ВС	CD	СС	BB							
U15CH099	22.00 22.00	5.50	5.85															
Semester :	5 ABDUL MATIN KHAN	•	-	ВС	ВС	AB	ВС	BB	СС	BB	ВС							
U15CH100	22.00 22.00	7.00	6.23															
Semester	Student Name		Course Code	CH301 T	CH303 T	CH303 P	CH305 T	CH305 P	CH307 T	CH307 P	CH315 T							
			Credit	4.00	4.00	1.00	4.00	1.00	4.00	1.00	3.00							
Admission	Reg- Earn-	SGPA	CGPA	CHEMICAL	HEAT	HEAT	MASS	MASS	MECHANICA	MECHANICA	FUELS AND							
Number	Credit Credit	JULA	COFA	ENGINEERI	TRANSFER	TRANSFER	TRANSFER	TRANSFER	L	L	COMBUSTIO							
				NG	OPERATION	OPERATION	OPERATION	-	OPERATION	OPERATION	N(EIS-I)							
				THERMODYN	S	S (PRAC.)	S - I	S - I (PRAC.)	S	S (PRAC.)								
				AMICS - I														
Semester :	5 AMIT AGRAWAL			ВС	ВС	ВС	BB	AB	BB	CD	AB							
U15CH101	22.00 22.00	7.64	8.19	ВС	ьс	ВС		AD	ВВ	CD	70							
Semester :	5 PARTH MANUBHAI PAT		•															
				BC	ВС	BB	BB	AB	CD	ВС	AB							
U15CH102	22.00 22.00	7.23	7.26															

Total Student Count: 81

Abbrivations: SGPA = Semester Grade Point Average, CGPA = Cumulative Grade Point Average Grade: AA-10 AB-9 BB-8 BC-7 CC-6 CD-5 DD-4 FF-0 II - INCOMPLETE NA - NOT APPEARED XX - UNSATISFATORY ATTENDANCE Date: 11-01-2018